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Teains . “amawees  STROHL CORPORATION

ORIGINAL = ¢7

We are submitting these VIN worksheets to inform you

of some changes in the 5th character position.

We have added some different series of trailers L
that we now offer so we needed to identify them -
differently. i.\:
5
2
Thank You

Dave Strohl, Pres.

STROHL CORPORATION
55607 CURRANT ROAD
MISHAWAKA, IN 46545

PHONE: 1-219-258-5231
FAX: 1-219-258-5435
E-MAIL STROHLCORP@AOL.
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WORKSHEET: CHECK DIGIT CALCULATION

CHARACTERPOSITION] 1 | 2 | 3 | 4 | 6 | 6 | 7 | 8 | 9 W0 [ 11]12]13] 44 ] 6 ] 16 | 7
ActuAaLvin| | | S [9 | Ulec |/ |2 | [ &lWwim] bl ||/ |Y]2 sum
converTEDVALUES] | (R [|9 [ 4|3 |/ |2 ] ! @1 d| ol |3] 1Y | o
MULTIPLIER| 8 | 7 | 6 | 6 | 4 | 3 | 2 |10 ]| 0 | 9 | 8 | 7 | 6 | 5 | 4 | 3| 2| rrooucrs
PRODUCT . | . A RN
(vALUES X MULTIPLIER)| 8 | /(| SY|20| 12| 3 | 10] O S¥ Ll s d] 4] aq Y
CONVERSION TABLE CHECK DIGIT COMPUTATION CHECK DIGIT
LETTERS TO NUMBERS
EQUALS THE
A=1 N=5 SUM OF IFTHE | cHECK
B=2 | P=7 PRODUCTS DIVIDED WHOLE DECIMAL | DIGIT
C=3 | R=9 (FROM ABOVE) BY NUMBER + DECIMAL IS IS
D=4 | s=2 0.09 7
E=5 T=3 S9Y 1 2 G . 7 A 0.18 2
F=6 | U=4 027 3
G=7 | v=5 EXAMPLE 0.36 4
H=8 | W=6 0.45 5
J=1 X=7 247 11 22 0.45 054 6
K=2 | Y=8 0.63 7
L=3 Z=9 BECAUSE THE DECIMAL IS .45, YOU SHOULD CHOOSE THE 072 8
M=4 CHECK DIGIT AS 5, AS SHOWN IN THE CHECK DIGIT TABLE. 0.81 9
0.90 X
0.00 0
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5. [ found TopSeries

WORKSHEET: CHECK DIGIT CALCULATION

CHARACTERPOSITION] 1 | 2 | 3 | 4 | & 7 189 10 1M]12]13]14] 1] 16| 7
ACTUALVIN.| | | S |9 | I 0 AWMl X1 (Y lO SUM
CONVERTEDVALUES| / |2 |9 | Y| Q Ol R |||t |3]!1 4] o oF
MULTIPLIER| 8 | 7 | 6 | 5 | 4 2 (10| 0|9 | 87 |6 |5 ]| a4 3] 2| eropucrs
PRODUCT < ' 6) 0 L b | /¢ i ,
(VALUES X MULTIPLIER)| & (Y sYl 20|36 /01 o |54 3a]4a Y1lal o310
CONVERSION TABLE CHECK DIGIT COMPUTATION CHECK DIGIT
LETTERS TO NUMBERS
EQUALS THE
A=1 N=5 SUM OF FTHE | cHECK
B=2 P=7 PRODUCTS DIVIDED WHOLE DECIMAL | DIGIT
c=3 R=9 (FROM ABOVE) BY NUMBER + DECIMAL IS Is
D=4 S=2 0.09 1
E=5 T=3 30D 11 1 € 0.18 2
F=6 U=4 = 027 3
G=7 V=6 EXAMPLE 0.36 4
H=8 W=6 0.45 5
J=1 X=7 247 b 22 0.45 054 6
K=2 Y=8 0.63 7
L=3 Z=9 BECAUSE THE DECIMAL IS .45, YOU SHOULD CHOOSE THE 0.72 )
M=4 CHECK DIGIT AS 5, AS SHOWN IN THE CHECK DIGIT TABLE. 081 9
0.90 X
0.00 0

000




